














































































































jacobrun
Sticky Note
Note that we only need the wavefunctions to be equal up to an overall sign \pm 1 since the sign can be taken care of by the normalization factor.















































































jacobrun
Sticky Note
This should really read "For instance, for scattering betweeen hard spheres of radius R: sigma = 4piR^2." For point particles scattering on a sphere of radius R, we would obtain sigma = piR^2.
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Line
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Callout
except one eigenvalue which is equal to unity.
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The curriculum ends here: the example below is not part of the curriculum.
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